Addition von Briichen ( gemischter Bruch )

Name: Datum: Ergebnis:
6 1 7 3
—41- = L4l =
7 5 9 9
2 3 7 2
ZiZ= Z41Z=
5 6 9 5

2 1 1 3
12+ = = 4=

3 8 5 9
: + 4 11 + 11 =
6 5 6 3
3 2 I 4
Z4+Z= 2=+ - =
8 7 2 5
L1 6,11

6 4 8 6
3 1 1 2
S = e
48 2 4
4 2 2 4
-+ = — 4+ - =
7 4 6 6

1 2 3 4
=+ = = 24 l=

59 7 8
11 1 4
4= -+ - =
4 8 4 5
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Addition von Briichen ( gemischter Bruch )

Name: Datum: Ergebnis:
6 I 72 2 1 1
—t+]="=0" Z+§:_0:1_
7 5 35 35 9 9 9 9
2 3 9 7 2 98 8
-+ -=— —+1l-=—==2—
5 6 10 9 5 S 45
2 1 43 19 I 3 8
l-+=-=—=1— -+ —=—

3 8 24 24 5 9 15
1 4_29 do1os
6 5 30 6 3 2 72
3 2 37 1 4 33 3
it =27 et - =2 =3
8 T 56 2 5 10 10
I 1 17 1 2 11
1—+—:—=1i é+1—=—3=1—
6 4 1 12 8 6 1 12
3,17 1,2,
4 8 8 2 4
4 2 15 1 2 4

S+ =" =1 “r-=1
7 4 1 14 6 6
1 2 o4 19 3 4 13
l—+Z="=12 Sy
5 9 S 45 7 8 14
I 1 3 1 4 41 1
o= |+~ = =0
4 8 8 4 5 20 20
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